Sheet 1 of 4

BID SUMMARY

TITLE: 2019 STORM DAMAGE REPAIRS ON MOUNTAIN VIEW ROAD, CR 510, M.P. 1.65

CONTRACT NO. 210015 DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 510

ADVERTISED DATE: March 8, 2022

BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini

DATE: 3/29/2022 CHECKED BY: Chris Spengler

| DATE: | 3/30/2022 |
|-------|-----------|

| | | | 2 | Resource ment, Inc. | ENGINEER'S ESTIMATE | | Gregg Simp | Gregg Simpson Trucking | |
|-----|---------------------------------|------|------|------------------------|---------------------|-------------|-------------|------------------------|-------------|
| | | | | 0 | O. 1 | | | NO. 2 | |
| | | | | UNIT | | UNIT | | UNIT | |
| NO. | DESCRIPTION | UNIT | QTY. | PRICE | AMOUNT | PRICE | AMOUNT | PRICE | AMOUNT |
| | | | M | DUNTAIN VIE | EW ROAD, M.P. | . 1.65 | | | |
| 1 | Mobilization | LS | 1 | \$6,050.00 | \$6,050.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 |
| 2 | Construction Area Signs | LS | 1 | \$500.00 | \$500.00 | \$2,000.00 | \$2,000.00 | \$1,500.00 | \$1,500.00 |
| 3 | Traffic Control System | LS | 1 | \$5,915.40 | \$5,915.40 | \$10,000.00 | \$10,000.00 | \$9,500.00 | \$9,500.00 |
| 4 | Water Pollution Control Program | LS | 1 | \$1,060.00 | \$1,060.00 | \$5,000.00 | \$5,000.00 | \$1,500.00 | \$1,500.00 |
| 5 | Develop Water Supply | LS | 1 | \$2,000.00 | \$2,000.00 | \$5,000.00 | \$5,000.00 | \$2,000.00 | \$2,000.00 |
| 6 | Clearing and Grubbing | LS | 1 | \$500.00 | \$500.00 | \$3,000.00 | \$3,000.00 | \$1,500.00 | \$1,500.00 |
| 7 | Excavation | CY | 80 | \$21.02 | \$1,681.60 | \$100.00 | \$8,000.00 | | \$4,800.00 |
| 8 | RSP (1/2 Ton, Method A) | TON | 50 | \$283.21 | \$14,160.50 | \$200.00 | \$10,000.00 | \$150.00 | \$7,500.00 |
| 9 | Backfill | CY | 80 | \$65.33 | \$5,226.40 | \$150.00 | \$12,000.00 | \$70.00 | \$5,600.00 |
| 10 | Willow Cuttings | LS | 1 | \$1,500.00 | \$1,500.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 | \$3,000.00 |
| 11 | HMA (Type A) | TON | 10 | \$562.53 | \$5,625.30 | \$200.00 | \$2,000.00 | \$565.00 | \$5,650.00 |
| 12 | HMA Dike (Type A) | LF | 100 | \$37.50 | \$3,750.00 | \$30.00 | \$3,000.00 | \$41.00 | \$4,100.00 |
| 13 | Contractor Supplied Biologist | LS | 1 | \$2,164.00 | \$2,164.00 | \$5,000.00 | \$5,000.00 | \$1,500.00 | \$1,500.00 |
| | | | | | | | | | |
| | Total: | | | | \$50,133.20 | | \$78,000.00 | | \$58,150.00 |
| | DBE Goal: | | | | 12% | | 11% | | 95% |
| ☆ | Corrected Amount | | | | | | | | |
| | | | | | | | | | |

BID SUMMARY

TITLE: 2019 STORM DAMAGE REPAIRS ON MOUNTAIN VIEW ROAD, CR 510, M.P. 1.65

DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 510

CONTRACT NO. 210015

ADVERTISED DATE: March 8, 2022

BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini

DATE: 3/29/2022 CHECKED BY: Chris Spengler

DATE: 3/30/2022

| | | | Bouthillier's Construction, Inc. | | ER'S ESTIMATE | MARZ Engineering | | | | |
|-----|---------------------------------|------|----------------------------------|--------------------|---------------|------------------|-------------|------------|-------------|--|
| | | | | N | NO. 3 | | | | NO. 4 | |
| | | | | UNIT | | UNIT | | UNIT | | |
| NO. | DESCRIPTION | UNIT | QTY. | PRICE | AMOUNT | PRICE | AMOUNT | PRICE | AMOUNT | |
| | | | M | DUNTAIN VII | EW ROAD, M.P. | . 1.65 | | | | |
| 1 | Mobilization | LS | 1 | \$5,000.00 | \$5,000.00 | \$10,000.00 | \$10,000.00 | \$8,000.00 | \$8,000.00 | |
| 2 | Construction Area Signs | LS | 1 | \$2,500.00 | \$2,500.00 | \$2,000.00 | \$2,000.00 | \$2,300.00 | \$2,300.00 | |
| 3 | Traffic Control System | LS | 1 | \$5,000.00 | \$5,000.00 | \$10,000.00 | \$10,000.00 | \$7,600.00 | \$7,600.00 | |
| 4 | Water Pollution Control Program | LS | 1 | \$1,500.00 | \$1,500.00 | \$5,000.00 | \$5,000.00 | \$1,650.00 | \$1,650.00 | |
| 5 | Develop Water Supply | LS | 1 | \$2,250.00 | \$2,250.00 | \$5,000.00 | \$5,000.00 | \$1,200.00 | \$1,200.00 | |
| 6 | Clearing and Grubbing | LS | 1 | \$2,500.00 | \$2,500.00 | \$3,000.00 | \$3,000.00 | \$3,200.00 | \$3,200.00 | |
| 7 | Excavation | CY | 80 | \$40.00 | \$3,200.00 | \$100.00 | \$8,000.00 | \$120.00 | \$9,600.00 | |
| 8 | RSP (1/2 Ton, Method A) | TON | 50 | \$285.00 | \$14,250.00 | \$200.00 | \$10,000.00 | \$170.00 | \$8,500.00 | |
| 9 | Backfill | CY | 80 | \$40.00 | \$3,200.00 | \$150.00 | \$12,000.00 | \$150.00 | \$12,000.00 | |
| 10 | Willow Cuttings | LS | 1 | \$3,500.00 | \$3,500.00 | \$3,000.00 | \$3,000.00 | \$2,080.00 | \$2,080.00 | |
| 11 | HMA (Type A) | TON | 10 | \$400.00 | \$4,000.00 | \$200.00 | \$2,000.00 | \$250.00 | \$2,500.00 | |
| 12 | HMA Dike (Type A) | LF | 100 | \$50.00 | \$5,000.00 | \$30.00 | \$3,000.00 | \$50.00 | \$5,000.00 | |
| 13 | Contractor Supplied Biologist | LS | 1 | \$6,500.00 | \$6,500.00 | \$5,000.00 | \$5,000.00 | \$1,800.00 | \$1,800.00 | |
| | | | | | | | | | | |
| | Total: | | | | \$58,400.00 | | \$78,000.00 | | \$65,430.00 | |
| | DBE Goal: | | | | 100% | | 11% | | N/A | |
| ☆ | Corrected Amount | | | | | | | | | |
| | | | | | | | | | 1 | |

BID SUMMARY

TITLE: 2019 STORM DAMAGE REPAIRS ON MOUNTAIN VIEW ROAD, CR 510, M.P. 1.65

CONTRACT NO. 210015 DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 510

ADVERTISED DATE: March 8, 2022

BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini

DATE: 3/29/2022 CHECKED BY: Chris Spengler

DATE: 3/30/2022

| | | | | onstruction O. 5 | ENGINE | ER'S ESTIMATE | Coleman Environmental Engineering, Inc. NO. 6 | | |
|-----|---------------------------------|------|------|---------------------|--------------------|---------------|---|-------------|--------------------|
| | | | | UNIT | 0.5 | UNIT | | UNIT | 0.0 |
| NO. | DESCRIPTION | UNIT | QTY. | PRICE | AMOUNT | PRICE | AMOUNT | PRICE | AMOUNT |
| | | | M | DUNTAIN VII | EW ROAD, M.P. | . 1.65 | · · · · · · · · · · · · · · · · · · · | | |
| 1 | Mobilization | LS | 1 | \$6,280.00 | \$6,280.00 | \$10,000.00 | \$10,000.00 | \$8,640.00 | \$8,640.00 |
| 2 | Construction Area Signs | LS | 1 | \$2,150.00 | \$2,150.00 | \$2,000.00 | \$2,000.00 | \$1,200.00 | \$1,200.00 |
| 3 | Traffic Control System | LS | 1 | \$5,125.00 | \$5,125.00 | \$10,000.00 | \$10,000.00 | \$13,612.00 | \$13,612.00 |
| 4 | Water Pollution Control Program | LS | 1 | \$2,525.00 | \$2,525.00 | \$5,000.00 | \$5,000.00 | \$1,800.00 | \$1,800.00 |
| 5 | Develop Water Supply | LS | 1 | \$1,500.00 | \$1,500.00 | \$5,000.00 | \$5,000.00 | \$600.00 | \$600.00 |
| 6 | Clearing and Grubbing | LS | 1 | \$5,975.00 | \$5,975.00 | \$3,000.00 | \$3,000.00 | \$7,194.00 | \$7,194.00 |
| 7 | Excavation | CY | 80 | \$130.00 | \$10,400.00 | \$100.00 | \$8,000.00 | \$100.00 | \$8,000.00 |
| 8 | RSP (1/2 Ton, Method A) | TON | 50 | \$207.00 | \$10,350.00 | \$200.00 | \$10,000.00 | \$219.50 | \$10,975.00 |
| 9 | Backfill | CY | 80 | \$160.00 | \$12,800.00 | \$150.00 | \$12,000.00 | \$90.40 | \$7,232.00 |
| 10 | Willow Cuttings | LS | 1 | \$2,565.00 | \$2,565.00 | \$3,000.00 | \$3,000.00 | \$11,840.00 | \$11,840.00 |
| 11 | HMA (Type A) | TON | 10 | \$467.00 | \$4,670.00 | \$200.00 | \$2,000.00 | \$642.90 | \$6,429.00 |
| 12 | HMA Dike (Type A) | LF | 100 | \$49.00 | \$4,900.00 | \$30.00 | \$3,000.00 | \$66.27 | \$6,627.00 |
| 13 | Contractor Supplied Biologist | LS | 1 | \$1,260.00 | \$1,260.00 | \$5,000.00 | \$5,000.00 | \$4,800.00 | \$4,800.00 |
| | Total: DBE Goal: | | | | \$70,500.00 N/A | | \$78,000.00 11% | | \$88,949.00 N/A |
| ☆ | Corrected Amount | | | | | | | | |

BID SUMMARY

| | CONTRACT NO. 210015 |
|------------------------------|---------------------|
| /IEW ROAD, CR 510, M.P. 1.65 | DISTRICT: 1 |
| | COUNTY: MENDOCINO |
| | ROUTE: 510 |

ADVERTISED DATE: March 8, 2022

BID OPENING DATE: March 29, 2022

PREPARED BY: Chris Gialdini

DATE: 3/29/2022 CHECKED BY: Chris Spengler

DATE: 3/30/2022

| | | | | | ER'S ESTIMATE | | | | | |
|-----|---------------------------------|------|------|-------------|--------------------|-------------|-------------|--------|--------|--|
| | | | | | <u>NO. 7</u> | | | | NO. 8 | |
| | | | | UNIT | | UNIT | | UNIT | | |
| NO. | DESCRIPTION | UNIT | QTY. | PRICE | AMOUNT | PRICE | AMOUNT | PRICE | AMOUNT | |
| | | | M | DUNTAIN VIE | EW ROAD, M.P. | . 1.65 | | | | |
| 1 | Mobilization | LS | 1 | \$14,758.00 | \$14,758.00 | \$10,000.00 | \$10,000.00 | \$0.00 | \$0.00 | |
| 2 | Construction Area Signs | LS | 1 | \$5,105.00 | \$5,105.00 | \$2,000.00 | \$2,000.00 | \$0.00 | \$0.00 | |
| 3 | Traffic Control System | LS | 1 | \$14,785.00 | \$14,785.00 | \$10,000.00 | \$10,000.00 | \$0.00 | \$0.00 | |
| 4 | Water Pollution Control Program | LS | 1 | \$5,042.00 | \$5,042.00 | \$5,000.00 | \$5,000.00 | \$0.00 | \$0.00 | |
| 5 | Develop Water Supply | LS | 1 | \$6,066.00 | \$6,066.00 | \$5,000.00 | \$5,000.00 | \$0.00 | \$0.00 | |
| 6 | Clearing and Grubbing | LS | 1 | \$6,698.00 | \$6,698.00 | \$3,000.00 | \$3,000.00 | \$0.00 | \$0.00 | |
| 7 | Excavation | CY | 80 | \$78.40 | \$6,272.00 | \$100.00 | \$8,000.00 | \$0.00 | \$0.00 | |
| 8 | RSP (1/2 Ton, Method A) | TON | 50 | \$222.84 | \$11,142.00 | \$200.00 | \$10,000.00 | \$0.00 | \$0.00 | |
| 9 | Backfill | CY | 80 | \$113.85 | \$9,108.00 | \$150.00 | \$12,000.00 | \$0.00 | \$0.00 | |
| 10 | Willow Cuttings | LS | 1 | \$3,089.00 | \$3,089.00 | \$3,000.00 | \$3,000.00 | \$0.00 | \$0.00 | |
| 11 | HMA (Type A) | TON | 10 | \$1,158.50 | \$11,585.00 | \$200.00 | \$2,000.00 | \$0.00 | \$0.00 | |
| 12 | HMA Dike (Type A) | LF | 100 | \$154.56 | \$15,456.00 | \$30.00 | \$3,000.00 | \$0.00 | \$0.00 | |
| 13 | Contractor Supplied Biologist | LS | 1 | \$6,309.00 | \$6,309.00 | \$5,000.00 | \$5,000.00 | \$0.00 | \$0.00 | |
| | Total: | | | | \$115,415.00 | | \$78,000.00 | | \$0.00 | |
| | DBE Goal: | | | | Ф110,110100 N/A | | 11% | | N/A | |
| ☆ | Corrected Amount | | | | 19/11 | | 1170 | | 11/23 | |
| | | | | | | | | | | |